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The Frieze of Parnassus
encircles the base of the
Albert Memorial in London
and consists of 169 life-size
full-length sculptures of
individual artists from
history. The total length of

the frieze is approximately

210 feet.

http://en.wikipedia.org/wiki/File:Decorative_emblems_The_Circus_Bath.jpg
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Frieze of animals,
mythological
episodes at the
base of
Hoysaleswara
temple, India
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The Circus (Bath), UK.

Architectural detail of

the frieze showing the

alternating triglyphs

and metope. (John

Wood, the Elder,

architect).

http://en.wikipedia.org/wiki/File:Albert_Memorial_Friese_Collage_-_May_2008-edit1.jpg
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